Expand: Expand:

© 4y+3) - 5(b?+2)

* 5(a+9) - 13(3-n)

- 3(x-7) o y(2 + y)

- 6(9-2) - a(7 - 8)

.+ 2(3b+7) . p(3p+q)

- 10(3k + 10) « s(6s-5)

« 12(4s + 6) * k(2m + n)

Expand: Expand:

. 7X(X + 4) 5(X + 4) + Z(X = 8)
» 3y(x - 8) 8(x-1)+(3x-4)
« 6x(6-x2) 3(2x - 5)+ (4x + 9)

« 3(x-D5)+4(x+6)
« 3(2x-1)+2(3x + 4)
- 4(bx +2)+8(2x-1)

4(x -1)-6(3x+8)
X(4x +2) + 2(x - 9)
2x(x - 3)-4(x? - 2)




Expand.: Expand:

© Ay+3)=4y+12 + B(b?+2)=5b?+10

* B(a+9)=5ba+4b « 13(3-n)=39-13n

« 3(x-7)=3x-21 © y(2+y)=2y+y?

* 6(g-2)=6g-12 - a(7-8)=7a-8a =-a

- 2(3b+7)=6b+14 - p(Bp+q)=3p? +qp

« 10(3k + 10) = 30k + 100 - s(bs-5)=6s?-5s

« 12(4s+ 6)=48s + 72 « k(2m + n) = 2km + kn

Expand: ) J Expand:

. 7X(X+4):7X2+28X 5(X‘|‘4)‘|‘ 2(X'8)=7X+4
+ 3y(x - 8) = 3yx - 24y 8(x-1)+(3x-4)=11x-12
« 6x(6-x%)=36x-6x" 3(2x-5)+(4x+9)=10x-6

. gg - 53; i(();, + 6)4; IX+9 1. 4(x-1)-6(3x +8) = -14x 52

° X-1)+ X + =12x+5H _ = Ax?s 4y

. 4(Bx+ 2)+ 8(2x - 1) = 36x | <UAX*2)w 2(X =) = axtaxis
2x(x - 3)-4(x° - 2)=-2x* 6x+8




